&F0 645y i = X 15
T XATE 4 - i X _ 7&&%%‘?&{%‘%7_
S (TR wass @M m oW g [P ACEERTEECEA RS
#| 1 B LA B A o e I P s s I
RERLIA o Hitke 40 | 1.1 —Hr 25 19 19
3| N A X B0 | 1.1 [T b HETT b b YT L
AT LR X
1 IR MG PN o 2 P b X —H 1UEE 18 | —
2 LFELIA o i 40 | L1 19 24k 23 23
NEE1~4TH |2 50 | L. 1 [T B T B IR b M b HE
| K P S e B b o8 PR 0D JE Rt Xt —|l 4.0L i - -
LELIS 0 g 40 | L2|4 4.8 170 5. 4 5.4
=43 i b X 5 | 1.1 Fﬁtt@ﬁtb@[ﬁbﬁﬁiﬁtt@
TR AR X g
1 BRI A PN oD Rl 3 e oiopi 17 | —
2 LELU OISR 40 | L1U|F 22 24 21 21
7 E R S TR IR PN oD 2 P B X B — 120 16 00— —
EFRLIA O it 40 | L1|F 20 24 20 20
2y -5 T b 50 1. 1 (7T b 28T b SET  2ET TE
T LA X
1 BFEREHIRN O R A KR - —fli 16— —
2 EERLA O 40 | 1.1 —H 24 17 17
LE = SR B P oD = T M X A —#  10fE 160 — —
LIS o itk 40 | 1.1|F 24r: 26 19 19
&| AR Vi A e o R P T B AT L D PN a0 | 'R @y @R fE5)
EFLLLA o> s — | BEAR (TTLL T L L T L
| Ak A Kk
1E§4t¢%4tif&5@¥ﬁ$¥ﬁﬁﬁﬂﬂ L1 I8 1 51 551 A 5l
2 WA e — | B (7T Lk HET L AT e T
3 hRELS R 50 | 1.1 [T b B AE T L T b v
T A X dk




&F0 645y i = X 25
T XATE 4 - i X W AL E
e R ks @ A o w4 [P PEEERTIBEITOGES
2| | ARSI 0 B RO S P s e I
2 kRIS Hk 40 | 1L.1|% 2gfr 32 22 22
A kel — | BRAR (T T LY L T L
AT LR X
1 BESEREUMLIEL P o R F X I —H 9. I 14 | —
2 LFELIA o i 40 | L1 e 21t 19 19
& = A EceiH 40 | 1.2 — —Iffi 5. i 5.3
L| #i P S e B b o8 PR 0D JE Rt Xt —F 1upE 16 | —
LIS 0 i 40 | L1 23 22 2o 22
| R S 1A B AR PN D JR X0 —t Ll o1 | —
LFRLLA o Hie 40 | L1 229 25 21 21
| Betis 1 ~4TH 07 50 L. 1 (7 B SET B YT b T P T
Qi 5 TH 67K, 7HIX 50 | 1.5 [T B HEHT EL BT b T L B
_ERLEASR D i 5 | 1.2 ﬂ?tl:hfﬂ&l:tt"‘fégttﬁﬁﬁtt’&
s 6 T H ESh 50 | 1.2 |7 by B AE T L e e T
ERELE o S B A PN D J —t L7 16— —
RFERLLA o> Hitkek 40 | L1|% 27 234 194 19
Sy (ke |1 — | B (7L HET HL e P e EL T
T LR I
1 SRR o 2 Tl X —d 4 14— —
2 _LEBsA o ik 40 | 11|19 28F 21 194 19
T| 5 £ R LIS D 12 P M DI —pE e 1y | —
ERCEASS D 40 | L1|% 18 20 194 19
& EA (ke |qEs=
1E§4tqﬂ9&4tif&|z@¥ﬁ$¥ﬁﬁﬁﬂﬂ L1 I8 1 51 551 A 5l
2 WA e — | B (7T Lk HET L AT e T
3 hRELS R 50 | 1.1 [T b B AE T L T b v
T A X dk




&F0 645y i = X 3E
ﬁfmzmﬁéa : AR TR X _ ?ﬁ&ﬁﬁ?ﬁ?%ﬁh
SR ks w0 W e w4 [P PERERTIEEETA RS
v | R O A Aty g

2 kRIS Hk 40 | 1.1 —H 3o 22 22
=L A X
1 iiﬁ@%ﬁifﬂ&ﬁ%ﬁ%%ﬁﬁﬁﬂﬁlz el | R fER fER] fER
2 bR O 50 | 1.1 [f7ECHEHT HL T L T L
T b X
1 RSEIRELMIR P 0D 5 i B — 18 16— —
2 EERLAOHIR 40 | L2[F 3o 24 17 17
7 4k [iRCag % 4 — | B v Lt I L T T e e
A LA Kk
1 BEER BRI o 2 Al DX — 9. 4 13— —
2 ERCEAA OISR 40 | 11| 19d 19 194 19
i A Kk
1 Bl it — | BRAR (ST b b i b
2 EREELS O 50 | L. 1 |7 EevE v b v b v
AT AR K ek
1 REEREHIE N o A X —fi 18 15— —
2 ERRLSh O HulR 40 | L1|% 3yt 2 17 17
K o R B IE PN oD o P L IR —h o1 12 | —

BRSO HiU 40 | L1|F 21 21F 19 19
to| #rer B S T B H IR PN oD 2 P K3 —Rt 1o 14 | —

EFELIA 0 40 | 1L1|F 27 21F 19 19

e % SR IR PN oD 2 P I —Fl 15F0 200 — -

_ERLLASS oD i 40 | L1|% 27ff 259 19 19

YL ~3TH PR T 0 e o A T T B 1 T R ST 1 2 1 1 e 11
ES [ERcTE A%
1@%4&#39%%35%!2@%@%%3’@%% fER0 | &R Ep] &R fER)




&F0 645y i = X 1H
jfzmﬁ%:ﬁmmﬁ%z B 153,61 £
SR ks w0 W e w4 [P PERERTIEEETA RS
| EER 2 RO HE —% %%ﬁiﬁttfgfﬁttf%‘ﬁttéﬂittfél ’

A L Xk

1 PSRN o 2 A Hh K —l 14 15 | —

2 FELS o 40 | L1 osf 21 19h 19

H ke — | BEAR (T LT BT L T LY
Fa FRER LIk 50 1.2 Fﬁtﬂ%‘ﬁtﬁ%ﬁhﬁ’éﬁtt@

AT LA DI

1 BRI PN o B A XK —Fl 9.2 14 | —

2 LRELU o i 40 | L1 20 26% 18 18

i3 KA 2 11 L A PN D R Bt X0 o4 100 | —

LFRLLA o Hie 40 | L 1|4 4.8 13ff 5. 4 5. 4
O BEE [iEREaR A — E%ﬁﬁm%ﬁmﬁﬂm%&wﬁ

AT AR X

1 IR MR o B2 T i Ik —d 14 17— —

2 ERLEA O 40 | L1|% 28 254 199 19

o b PO 50 | 1.1 [f7ECHEAT HL T L T L A
T LA X

1 AR AR O RREHE oD M 40 | 1.5 - - - -

2 LRELstoR

(1) FEEEHRBLHUSR A O B B X I —fidi 9. 1l 16— —

(2) kitEist ol 40 L1 15 26 22 22

3 R R BT P 0D B I —ti 4o 12— —

ERLLA o> it 40 | L2|% 6.2t MF5JF52

ARG [k [Are: — | BRAR (T I LR I L T L
T LR Xk

1 RS o = A KO —f#l 14 190 — —

2 LFELh o g 40 | 11| 24E: 300 19 19

A EH Fo SR B PR oD o P L X —#l nﬁ 7 - -




&F0 645y i = X 5E
T XATE 4 - i X W AL E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
A EH RFLLASR > HiE 40 | L1[F 21 27 ey 2y
oy A o2 4 M I PR 0D 2 P 3 DX —F 1epE 200 —| —
LELIA 0 HE 40 | L1 o7l 25t 20 29
K| BEE [k (A% — | BEHR [T LT YT b T b B
[iRcaglor | dEe
1 BRI PN 0 B A K —fel 14 15 | —
2 kLo 40 | LU 2gfh 21 19 19
7O A H P S e B b o8 PR 0D JE Rt Xt —F .5 11 | —
LIS 0 i 40 | L2 8o 14F 7R 7.1
D| Er R S 1A B AR PN D JR X0 —Jf 15r~fu 14 - -
LFRLLA o Hie 40 | L1|% 2 21 194 19




